
Entry 3 - Working with Whole Numbers  6371/E3

Name:

Complete the following questions. 
Remember to show your workings.

Subtracting numbers

There were 369 people at the cinema. 

How many people remained in the cinema?

AC 2.2

 
Workings:

People remaining:

1.        

Ysgol Flint has 872 pupils. 
224 pupils were at a Theme Park on a rewards trip. 

How many pupils remained in school?

 

 
Workings:

Pupils remaining:

2.        

Gareth had saved £430. 
He bought a new laptop for £379. 

How much savings did Gareth have left?
 
Workings:

Savings left:

3.        

An aeroplane had 576 passengers on board. 

How many passengers remained on board?

 

 
Workings:

Number of passengers:

4.        

 £ 


